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[Roll Number
Candidate Name
Test Center Name iON Digital Zone iDZ 2 Mathura Road
Test Date 12/06/2022
Test Time 9:00 AM - 10:30 AM
Subject Level 5
* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q1 & cafdeTe Hieiis Ted e AT Tgel AR Fiyer Tude # a
A% 1. sifaar YT

X2 gt T

X 3. FARTETS =g

v drdEr fiy

Question ID : 115135485
Option 1 ID : 1151351940
Option 2 ID : 1151351939
Option 3 ID : 1151351938
Option 4 ID : 1151351937
Status : Not Answered
Chosen Option : --

Q2 gorre ow 74 RfowaT (e R ) & e & & e a9 F ofi| B e
Ans X 1. 1876

X 21857

+ 3 1818

x4 1812

Question ID : 115135519
Option 1 ID : 1151352073
Option 2 ID : 1151352076
Option 3 ID : 1151352074
Option 4 ID : 1151352075
Status : Not Answered
Chosen Option : --




Q.3 v fEsor $ 90 Frex A A gy HX I F s 401 ¥ gAY B # 90 e AT & gy v
ST T HETE 3:2 ¥ S s # gu Fr At & adeaw e e fiw

Ans x 1. 22 Eﬁ?{
v 2 18 #rex
X3 16 @irex
X4 23 dlrex

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135907
1151353626
1151353625
1151353628
1151353627
Answered
2

Q4 Fraftefas & ¥ Fiv o faftr oo gure, aften wfier srEemw it e Tdmer F EEdE
ar?

Ans W1ﬂ?ﬂ'ﬁf
X 2. FATHaT FTaT
X3 Ffermw e

X4 FAIH ASTEI

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135522
1151352085
1151352088
1151352087
1151352086
Answered
4




Q5 & 7 AFHL F AR HATH FY AT TF T FeT F el &
TH AT H TR Oag I TR Mgl # B v R d o ot s e e H
HHe efEaar & 9= gl wF T g

gl 9T #, A, A, vorwd, I AT ger 35 ¥ (39 s FH A g e 78 §) AR 37w
T HW ST # AN g

oEl 9k &, o, vefem, 9ftm, wer i Brar &5 € (aFe s e F g wfeerd A ) i e
Tl T W Bea T AT F

T, EF AT § EAE dRodt # 3% coodt & 7w v gEy # AR §) B wfe $ ad ain
ey T o7 §r ¥ el R v Y W 3w ¥ oF, R & S AT gEy wue oF A ¥ uET
AT AW FF doT e, AN F a8 AT S T H doT §1 [ A F A AN gE T W dar
g1 AT, A5 F S W & AT 37 g1 AT 3R voew F @i Faer o g $5 &1 F ar A @ 3w

7 & A & q@ Agr A AT
= & frwe ga oo & 3
A v et
72 wefaa
73 foar
K4 g
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

115135866
1151353462
1151353464
1151353463
1151353461
Answered

1

Q.6 g gwamst Fr detEe 17 § S9F 399 39 &7 IeTee 157 ¥ et gEmat & uer 1 SR A

EoiE Ll

Ans 1. 1547
X2 3791
X3 1491
X 4. 3094

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

115135916
1151353663
1151353661
1151353664
1151353662
Answered

1

Q.7 mmﬁ,wﬁq&ﬁﬁmmr@ﬂmma:mhAﬁma:rnmsﬁé‘#ma‘r%}ﬁrngaaﬁ
T A W 7ar § wer F e faeamdt §2

Ans X1 25
x2 20
X3 21
4. 25

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

115135879
1151353515
1151353516
1151353513
1151353514
Answered
4




Q.8 - 4 + . &
IR i & e e $r g8g Fr afEg # avia ¢l
Ans
X 1. TS 395
v 2. AT 368
X 3. HeT=e 352
X 4 Biu'-laﬁ?a 360
Question ID : 115135503
Option 1 ID : 1151352012
Option 2 ID : 1151352009
Option 3 ID : 1151352011
Option 4 ID : 1151352010
Status : Answered
Chosen Option : 2
Q9 gfrey?- 13y + 6 = 08, & THEUT F a1 Fell F UEHS AT HAT
Ans o 1. 1
13
X2
6
—13
X3
6
x4
Question ID : 115135926
Option 1 ID : 1151353702
Option 2 ID : 1151353704
Option 3 ID : 1151353701
Option 4 ID : 1151353703
Status : Answered
Chosen Option : 1
Q10 2011 Fr sTerwET & AR, T & ¥ B5E Tow # FERE FEs F TEw O 9
Ans *
v OFTe
X 2 FERTSE
X3 qfggsd S9e
X4 EA
Question ID : 115135497
Option 1 ID : 1151351986
Option 2 ID : 1151351987
Option 3 ID : 1151351985
Option 4 ID : 1151351988
Status : Answered
Chosen Option : 4




QM oifdredf & e 37 @ 3N AT THEF e WA §, N wodT Ao wad E
A X1 fEF (Ovum)

v 2. JIAAST (Zygote)

X 3. 0T (Embryo)

X 4 ey (Foetus)

Question ID : 115135513
Option 1 ID : 1151352049
Option 2 ID : 1151352052
Option 3 ID : 1151352050
Option 4 ID : 1151352051
Status : Answered
Chosen Option : 2

Q.12 foFe gear #r @ ShaTe AB 3k CD gea & X v fig F X wfaesfa o &
TfTAF = 12cm, BF — 4 cm 3AITCF = 16 cm g, & CD HraaE A Hifaw|

Ans X 1.10 em
+2 13 cm
X312 cm
X4 11 cm

Question ID : 115135927
Option 1 ID : 1151353705
Option 2 ID : 1151353708
Option 3 ID : 1151353707
Option 4 ID : 1151353706
Status : Answered
Chosen Option : 2

Q13 fw v Fuet s et # camEE ) Fue # & o e A A g AR w e @
g WHTS: A9 Tt § B gd g &, 3t 97 W F Rw av Tt § @ FF § s &

Afeeer F | T Fd 87

FYA:

7o T ™

Fig T S ALY E

s

. T Food O FE FI

II. T o Fer F

AN v Fraer TRSHEY | OTe FRAT B

X2 fasmd | 3R 1 S 9o e B

X 3. Faer fasEHy || 9Tt T gl

X4 o ar Ty | 3k 7 & |l 9 Far 2

Question ID : 115135894
Option 1 ID : 1151353573
Option 2 ID : 1151353575
Option 3 ID : 1151353574
Option 4 ID : 1151353576
Status : Answered
Chosen Option : 1




O Prafafea F 9 B o f P o DR TEg @ AE e 87
Ans x 1. mr

X 2. orfehEdre

X3 FOTAR

4 TS

Option 2 ID
Option 3 ID

Status

Question ID :
Option 11D :

Option 4 ID :

Chosen Option :

115135496
1151351982

: 1151351984

: 1151351983
1151351981

: Not Answered

Q15 D, E L MRS YIZoe wex 3 F a3 &3 & &5 & 3w gw e B =F T
U P! 9 S §, A 3T AW A F S Aew H &5 §
DA i cm s s Am A da1 81 D N E & @19 oo o= =o9d ST 81 L, E & @18 3
Tt LFR R IS R LIRMFIm o daaa 8§ R LF o
THAATEI S, Y F I HX S a9 F qIM §) Z F o 3N IW WF W FiF doT 87

Ans x< 1. S

+2 R
xX3Y
X4 D
Question ID : 115135898
Option 1 ID : 1151353591
Option 2 ID : 1151353589
Option 3 ID : 1151353590
Option 4 ID : 1151353592
Status : Answered
Chosen Option : 2
Q.16 2 *
AT § O FiF O e 99 & offad g w g 22
Ane X1 TR
X 2 gieear
3 T
X 4. OIIErT
Question ID : 115135492
Option 1 1D : 1151351968
Option 2 ID : 1151351966
Option 3 ID : 1151351965
Option 4 ID : 1151351967
Status : Answered
Chosen Option : 2




7 G F @ FF o e 30 ¥ Rearew &2
Ans 1. 34560

X 2. 23450
X 312340
x4 45670
Question ID : 115135923
Option 1 ID : 1151353691
Option 2 ID : 1151353690
Option 3 ID : 1151353689
Option 4 ID : 1151353692
Status : Answered
Chosen Option : 1
Q.18 Which of the following options is the closest approximate value which will come in place of question mark(?) in the
following equation?
67.96+5.12-0.89+31.88="7
Ans X 1. 150
X2 48
X3 35
W4 T3
Question ID : 115135867
Option 1 ID : 1151353465
Option 2 ID : 1151353466
Option 3 ID : 1151353468
Option 4 ID : 1151353467
Status : Answered
Chosen Option : 4
Q.19 . . : G
ART H g Fd & Hesl H, HYVP &1 q0T ®9 &7 87
Ans X 1.
High-Yielding Varieties Pattern (gs-ffege =T ¥e)
o 2.
High-Yielding Varieties Programme (gre-fifeser Srgd=r 9mA)
X 3.
High-Yielding Varieties Plants (gg-Fifeser 3=d= ooed)
X4,
High-Yielding Varieties Patent (grs-fifese du=d= 9de)
Question ID : 115135510
Option 1 ID : 1151352037
Option 2 ID : 1151352040
Option 3 ID : 1151352039
Option 4 ID : 1151352038
Status : Answered
Chosen Option : 3




Q20 oaper adEhe (Excel worksheet) & TEmait &7 Bwiee 3emsaie Hi &7 2T 22

Ans

X 1. 9T (Left)

X2 FfEEHEE  (Justify)

X 3. AT (Center)

v g (Right)
Question ID : 115135529
Option 11D : 1151352113
Option 2 ID : 1151352116
Option 3 ID : 1151352115
Option 4 ID : 1151352114
Status : Answered
Chosen Option : 2
Q.21 o RfeaT FT AT F, ‘cip civ cin' F1 'life is good' @ AT &, 'cip cin er' F love is life' T
T ¥ 36 FE o F love’ H R TR o S
Ans x 1. Clp
W2 er
X 3. oob
X4 cin
Question ID : 115135881
Option 1 ID : 1151353522
Option 2 ID : 1151353521
Option 3 ID : 1151353524
Option 4 ID : 1151353523
Status : Answered
Chosen Option : 2
Q2 =y Rw 1w siwst F FHSAT #, ACwE AN ageE F FR AT DR
£2.1,:5, 6, 7, .93 A1 .45 A7 4921 27 31 .31 33 165 14 .10}
Ans X 1. 10
X215
v 3 17
X419
Question ID : 115135910
Option 1 ID : 1151353638
Option 2 ID : 1151353640
Option 3 ID : 1151353639
Option 4 ID : 1151353637
Status : Answered
Chosen Option : 3




Q.23 apree 2021 F et 2020 FreawER HERH F AT T @ AR F R g # e wiew
9eE SHer?

Ans 1
¥ 2 FHAT
x o aifeefem
X ¢ Frezels

Question ID : 115135487
Option 1 ID : 1151351945
Option 2 ID : 1151351946
Option 3 ID : 1151351947
Option 4 ID : 1151351948
Status : Answered
Chosen Option : 2
Q.24 trafafae g Br ov aet W smefE &
PLAN FORE RAMP RANG SAND
ofE ik oRE & Y HeT T IS IUAET F FH A 3EF IS HEW ¥ 929 T A1, | 39 e
T A e ER-EEE & @ T&e anre
Ans x 1. Qlu—_q-
X2 e
X3 T&H
o 4. a—
Question ID : 115135896
Option 1 ID : 1151353581
Option 2 ID : 1151353584
Option 3 ID : 1151353582
Option 4 ID : 1151353583
Status : Answered
Chosen Option : 4
Q.25 2
=ofaa 7 o =i & sher @ o= $r she 22
Ans X1 ger Eirer
v 2. gferre gier
X 3. dliehear S
X 4. X FrT
Question ID : 115135495
Option 1 ID : 1151351978
Option 2 ID : 1151351979
Option 3 ID : 1151351980
Option 4 ID : 1151351977
Status : Answered
Chosen Option : 2




Q.26 oett e faew fdie, @gET ag feRw FEEA (UNDP) g@mm a§ 3 weeee oA o
Ans X 1. 1945

+ 2. 1990
~<3.1980
< 41905
Question ID : 115135509
Option 1 ID : 1151352034
Option 2 ID : 1151352036
Option 3 ID : 1151352035
Option 4 ID : 1151352033
Status : Answered
Chosen Option : 1
Q.27 zform & To FEeATDT [ieTicsw TEl F & v, Tonst H1 o (Valley of the Kings), war o §7

Ans & 1. m_.H_
X2 g
X s et

X4 urEels

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135499
1151351994
1151351995
1151351996
1151351993
Answered
4

Q.28 g JE=Ely TS F 3T TETEA 3OS F I o, IR F e # 3y == AR weg,
mmmw&m%ﬁamgmmm

Ans X 1. QM
X2 =&
I
X 4. Ziafy

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135505
1151352017
1151352019
1151352020
1151352018
Answered
4




Q.29 wr iy = mva &1 FoUT S F B F T §1 v awfEe & 77 ¥ R, aftE & e € o =

= gEelar S &) FUT & Ufew ¥ wT wey E7

Ans x 1. ﬁn_'ﬂ'

X 2. FTAVAT FT 85
X3 qrarar & far
v 4 greT/Tar & Frar

Question ID : 115135868
Option 1 ID : 1151353469
Option 2 ID : 1151353470
Option 3 ID : 1151353472
Option 4 ID : 1151353471
Status : Answered
Chosen Option : 4
Q.30 3w, FEt AR vl & e Pealafe e & e # A A9 Y v ged @ s 4
@ EAS5 #6A5DPAY¥8R2Z-Q9BL56%SH2F#6 (@0
IIFS Eer F U fraw e E, A ¥ 9 ¥ &% wEe vF v &, 3R 8 s1g ve dmar 7
Ans v 1. 3
<21
X3 2
x4 4
Question ID : 115135869
Option 1 ID : 1151353475
Option 2 ID : 1151353473
Option 3 ID : 1151353474
Option 4 ID : 1151353476
Status : Answered
Chosen Option : 1
N B #roEw A
Bl |
cos?(45°+0)+cos?(45°— 0)
cosec230° sin? 45°—sec260°
Ans 1
p
6
w2
1
X3 —
2
1
A
Question ID : 115135934
Option 1 ID : 1151353735
Option 2 ID : 1151353733
Option 3 ID : 1151353734
Option 4 ID : 1151353736
Status : Answered
Chosen Option : 2




Q.32 = Fr o TfEF THgfE HUR W S W, TF G v FRET e e W 3 3¢ F 2625, MR
4 I8 # 3675 g S & TF =u T e B2

Ans X 1. 4%
X2 6%
+3 8%
X4 7%

Question ID : 115135908
Option 1 ID : 1151353631
Option 2 ID : 1151353629
Option 3 ID : 1151353632
Option 4 ID : 1151353630
Status : Answered
Chosen Option : 3

Q33w YeemEr 57.6 km #T g 48 TRAE F T A ¥ TWE TS mis FH A F
Ans  x 1 18

X2 24

X3 21

v 4 20

Question ID : 115135913
Option 1 ID : 1151353650
Option 2 ID : 1151353652
Option 3 ID : 1151353651
Option 4 ID : 1151353649
Status : Answered
Chosen Option : 4

Q.34 A, fordhr 1 % 12% T 1 fonfifE 797 & 15% W@ & 90 = @61 &1 A 3R B i wmm &
o 3 9% w1 Fa § AR FF FH W 9w & F9 81 B w1 # fhoer smer qu e g7

Ans X1 10%
X2 25%
v 3 20%
X4 15%

Question ID : 115135925
Option 11D : 1151353698
Option 2 ID : 1151353697
Option 3 ID : 1151353700
Option 4 ID : 1151353699
Status : Answered
Chosen Option : 3




Q.35 fav v gEmrgTA & ¥ vS &, gEd 9Ew, vEe WEN W Us ARad A 5fH w5 g &
e &1 Tefed # § O SE-iA UF §AW 9 & e a0 8, 3 5§ YeR T Hg e

%I 38 TEO-gEA W W9 #, A 36 WAg ¥ Hetdd A4 gl

Ans X117 : 272

« 2 15 : 208

X3 21 : 420

x4 25 : 600
Question ID : 115135884
Option 11D : 1151353533
Option 2 ID : 1151353534
Option 3 ID : 1151353535
Option 4 ID : 1151353536

Status : Answered
Chosen Option : 2
Q.36 ]
HFeATAT, fhder JEas #7 fqenfaa g7
Ans &

X 1. 4 IER

v 2 3 TFdh

X3 b gEAH

X4 2 GEdh
Question ID : 115135521
Option 1 ID : 1151352084
Option 2 ID : 1151352083
Option 3 ID : 1151352081
Option 4 ID : 1151352082

Status : Not Answered

Chosen Option :

Q.37 = g7 NNP (e T8 3e0re) o Bl g ff 3 sewen @ Rea s d dred . o

e ¥
X . FIET SmHTer
v 2 gid safdd 3
X3 FaEET i

X 4 Hehel TSEA 3cdlg

Ans

Question ID

: 115135504

Option 11D : 1151352015
Option 2 ID : 1151352013
Option 3 ID : 1151352014

Option 4 ID :

Status

1151352016

: Answered
Chosen Option :

2




Q.38 o =fT A B, C, D, E 3R F v% gramr A= & 9Re: &g & T 7w & 45 #) €, B & @1 3w
T TN EBFSF e A 3o & F, EF a8 IR S FIT W &S &1 D, A F a8
AT @Y T W A
A % T AR & a9 F FiF & 37

Ans X1 E
X2 F
X3 E

v4 C

Question ID : 115135897
Option 1 ID : 1151353587
Option 2 ID : 1151353588
Option 3 ID : 1151353586
Option 4 ID : 1151353585
Status : Answered
Chosen Option : 4

Q.39 v fAfFag uafEr x% i AR sars @ & 9 7 9§ # 7 22,494 g = ¥ ofg afde ammor
TS AT T (x + 4)% FS, T 7 99 G2 IT gFUnT T 25,917 i FEy f 7 a=mufr 7 Hiew

Ans 1% 12,225
X 2:% 12,275
X3 % 11,975
X 4.2 12,175

Question ID : 115135911
Option 1 ID : 1151353641
Option 2 ID : 1151353642
Option 3 ID : 1151353643
Option 4 ID : 1151353644
Status : Answered
Chosen Option : 1

Q.40 =g =afEg o wAmCR SEadl - 187 2 # 38 §1 A B, C, D 3K E 9% 1 & 30w 1 3 7@ F0k
B E ARV, W, X, Y 3R Z 9T 2 # @0 #1 3R 7@ a3 45 §, 56 TR 9w 1§ #S g3E
WEET F AW, T 2 # 45 vF werd #r 3w f
T AT T E BT F Rl o MY W AS E A B F TE AT gEY TUE W de {1 B #r T
W FF ST A, ZF 0% A A ST E1 Y, Z F 9% AR gE TOA W deT §1 Y H AR 7w
FEH AT T, CF O AN G T W AT EI W, VFE TE IR g P W& §1 D, A&
& TITe F A& d3T F
3 ¥ FT E B AT 7@ = FT 87

Ans X 1 X
2 Y
X3V
X4 W

Question ID : 115135892
Option 1 ID : 1151353567
Option 2 ID : 1151353568
Option 3 ID : 1151353565
Option 4 ID : 1151353566
Status : Answered
Chosen Option : 1




Q41 frw orv fapedt & &, 5 3 gmmatt @ wmow F sger = e, afF Y # AT 29 g =mee

6 xd = how Gor o

Ans x153‘ﬁ?3
v2 4 3R 5
X3 9 3R 3
X463t

Question ID : 115135870
Option 1 ID : 1151353479
Option 2 ID : 1151353478
Option 3 ID : 1151353480
Option 4 ID : 1151353477
Status : Answered
Chosen Option : 2
Q.42 BYTEW ws fafPsd a% % U 9 YWTEB & ®efad §1 567 o% & HuR ©, AMFQC, QMFCA @
TETST §1 30 9% F 3R W, TILDW a8 ¥ frod wefaa §2
Ans 1 LTIWD
+ 2. WTLID
X3 WLITD
X4 WILDT
Question ID : 115135875
Option 11D : 1151353500
Option 2 ID : 1151353499
Option 3 ID : 1151353497
Option 4 ID : 1151353498
Status : Answered
Chosen Option : 2
Q43 g 2021 &, WEAY F S TS #RT £ smmer B @ 92
Ans X1 RasTr ol
2. ALg HEr
X5 o9 qee
X4 AT ME
Question ID : 115135483
Option 11D : 1151351931
Option 2 ID : 1151351929
Option 3 ID : 1151351932
Option 4 ID : 1151351930
Status : Not Answered

Chosen Option :




U S 2021 & g2 sfaeral F eflwor S Ay # Aqh e & A
e X safeRTieeT . R

v 2 gty g

X3 HiAT Mg

X4 sigE

Question ID : 115135482
Option 1 ID : 1151351928
Option 2 ID : 1151351927
Option 3 ID : 1151351926
Option 4 ID : 1151351925
Status : Answered
Chosen Option : 2

Q45 fyalr uet & Yoo Ay T o€ 2.6 cm &1 T F qUT ISET G (cm? #) fbaer 87
Ans X 1. 40.36

X2 40.76

X3 39.96

« 4 40.56

Question ID : 115135915
Option 1 1D : 1151353658
Option 2 ID : 1151353660
Option 3 ID : 1151353657
Option 4 ID : 1151353659
Status : Answered
Chosen Option : 4

Q46 gfg Twer WY Ty FeRT #§ ¥ e 78 W a9 w2
Ans x 1. Thaﬁ-ff

¥ 2 FAHET

X o BT

X 4 T

Question ID : 115135489
Option 1 ID : 1151351956
Option 2 ID : 1151351953
Option 3 ID : 1151351955
Option 4 ID : 1151351954
Status : Answered
Chosen Option : 2




Q.47 fiw v Reedt # T 37 TEA & T4 Hifaw, F TeaafRg Aok F gew few (7) $ we ovoa

Chosen Option :

AT 7
86, 89, 95, 104, 7, 131, 149
Ans x 1. 1 1 4
X2 113
X3 122
¥4 116
Question ID : 115135886
Option 1 ID : 1151353541
Option 2 ID : 1151353542
Option 3 ID : 1151353544
Option 4 ID : 1151353543
Status : Answered
Chosen Option : 4
Q48 Rt 2021 FF T°F AFHA F HFAR, TR F 399 FOEERT B TEA e 32
Ans X 1. 30
<2 28
X3 20
¥4 25
Question ID : 115135501
Option 1 ID : 1151352004
Option 2 ID : 1151352003
Option 3 ID : 1151352001
Option 4 ID : 1151352002
Status : Answered
Chosen Option : 2
Q49 s SR T F W TR IO SAETEE & sanaedel g ey o Sfae § wefea §7
Ans X 1. 231
X2 256
X3 187
4 219
Question ID : 115135516
Option 11D : 1151352063
Option 2 ID : 1151352062
Option 3 ID : 1151352061
Option 4 ID : 1151352064
Status : Not Answered




Q.50 el @ forel WEwT H 2.4 F IOT w01, AT THF a0 3 SEH 4.2 § aen T 9l s

Ans

WIee UGS 65.1 W, & X FWEY USEA & FT H FIT WG T AR AP

« 1.37.20
X2 46.88
x3113.93

X 4.36.50

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135922
1151353686
1151353687
1151353685
1151353688
Answered

1

O o § ¥ 9 SRGT TaTT e F weteT FAET aar B

Ans

¢1.q'[g<'qﬁ|'
X2 zam A
X3 SRS FeTeT
X4 geraEEr

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status

Chosen Option :

115135502

1151352008
1151352007
1151352006
1151352005

: Answered

1

Q.52 spic MACAY (gamsit & #ear s ened wefia sl vyl & #ader & fow wfafa) ame & haeehfos,

Ans

o=, WRow e Fremmar . & o o

X 1.1970
X 21979
v 3 1977
X 41973

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135523
1151352089
1151352092
1151352091
1151352090
Not Answered




Q.53 e # © frw #1-a1F offeere 7 39T [¥E 10 9rdr (Windows 10 PC) &t & &1 & farw fmar
il

v &= &l F3 + L (Windows logo key + L)

X2 el + K (Ctrl + K)
x 5. f&EIs S &S + K (Windows logo key + K)

X4 oharer + L (Ctrl + L)

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135530
1151352117
1151352120
1151352119
1151352118
Answered

1

Q.54 .82, 0.802, 0.85, 0.085 & ¥ T T2 F=T 3T 0.3, 0.03, 0.203, 2.03 F T TIY TIE T 1

UGS AT R
Ans 1. 0.0255
2 2.0.2406
X3 0.246

X 4.0.0225

Question ID :

Option 1 ID :

Option 2 ID :

Option 3 ID :

Option 4 ID :

Status :

Chosen Option :

115135932
1151353727
1151353728
1151353725
1151353726
Answered

1

4% afy2259132% - x Y512 x VB = y& @y & A= 7 Al

Ans 1. 40.8
X2 402
X3 418
X4 412

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

115135919
1151353675
1151353676
1151353673
1151353674
Answered

1




Q.56 o=, focar, 39T, S, @, 6T, T AR & a1e iR #1 ¥ el v ol 9T # 3o i s
0@ w1 #5 §, ol 5o st 7 & @ s 71 81 Yar 3R org & i dEe o anfed 95 8
Freir HR A F A7 33wl & Tem, o A T F 9 3 et # 5Ew F w e
TEOT TG, F T H FGT deT §1 T, e F a8 A6 & aere F ¥ ¥ Fe, @ F 9 A7 gwy
TF W A F| @ veeH g0 By @ 9 me W R A9 9T ¥ b v By w3 #) S

FTT % I AR S e H 45 ¥ T & 9 iR em mEm R

Ans X 1. r_l'ﬂ?_l.
2 OF
X 3. =T
X 4 Teh
Question ID : 115135880
Option 1 ID : 1151353518
Option 2 ID : 1151353520
Option 3 ID : 1151353519
Option 4 ID : 1151353517
Status : Answered
Chosen Option : 2
Q.57 felr womer it v, sierd AR T 1 T 40 3 : 5 ¥ R oo Wl Reent Fr et
TR 144 cm g1 AT N 0T TSET ST6 AT BT
Ans
X 11026 cm?
X2 1620 cm?
X3 756 cm?
<4 846 cm?
Question ID : 115135921
Option 1 ID : 1151353683
Option 2 ID : 1151353681
Option 3 ID : 1151353682
Option 4 ID : 1151353684
Status : Answered
Chosen Option : 3
Q.58 w= WRET TT o F, T 9= F UF AiHE %€ F 79 F 0@ 4 #1 FegeR, 1875 & ad
'wound the round watch' &, 6143 & 31%f 'a cake is round' & , 3T 7321 @1 79 'watch a round
wheel' ¥1 38 T AT # 'watch' =7 FT FAT grE?
Ans o 1. ?
X2 5
X3 8
X 4. 1
Question ID : 115135871
Option 1 ID : 1151353484
Option 2 ID : 1151353483
Option 3 ID : 1151353482
Option 4 ID : 1151353481
Status : Answered

Chosen Option :

1




Q.59 e 2021 & Sr.yRA. (DRDO) & urgea-5 fAwEe & wwer glierwr 3, a7 vy yen & A
o7

o Iy TS (Air-to-Air Missile)
X 2. SY-B-Hag THAF (Air-to-Surface Missile)
X 3. afeor el TAEEe (Anti-radiation Missile)

X 4 Tdg-H-Tdg FaEe (Surface-to-Surface Missile)

Question ID : 115135488
Option 1 ID : 1151351951
Option 2 ID : 1151351950
Option 3 ID : 1151351952
Option 4 ID : 1151351949
Status : Answered
Chosen Option : 3

Q.60 forw s & TEEfF AW F tww Tethe & Trred T F W IO g w1 § A feee =
7 35% & ¥ e # FEa Sar 37

Ans X 1.
gia-faramae fafesar (Double displacement reaction)

X 2. g wf&faT (Displacement reaction)
v 3 s HfAfRaT (Decomposition reaction)
X 4. gorTa HAfATFAT (Combination reaction)

Question ID : 115135514
Option 1 ID : 1151352053
Option 2 ID : 1151352055
Option 3 ID : 1151352056
Option 4 ID : 1151352054
Status : Answered
Chosen Option : 3

Q.61 v d v g & OF F foum §1 dF & seoraRaw & v Fe €1 30 g & 3o & R e
& TREH F TE aF T §| g % WINET o A fEr # 32

Ans x 1. qné-
v 2 Beal-qa

X 3 Iea-afeaH
X 4 3eal

Question ID : 115135895
Option 1 ID : 1151353579
Option 2 ID : 1151353580
Option 3 ID : 1151353577
Option 4 ID : 1151353578
Status : Answered
Chosen Option : 2




Q.62 37 fmes & Toa e, TrEw o= ER-AEE T T T §, A S INT-TEE AW TG

T ¢ Ak gAY sen-TEE #7 TEe WN-TEE T B

EYBRD : VBYIW :: DAJKO : WZQPL :: JEWAD : ?

Ans 1. KRESD
X 2. MHREA
« 3. QVDZW
X4 VRTYU
Question ID : 115135882
Option 1 ID : 1151353526
Option 2 ID : 1151353527
Option 3 ID : 1151353528
Option 4 ID : 1151353525
Status : Answered
Chosen Option : 3
Q.63 3Rt & 3@ w@te @ e Hitee, SR & 8 J@en ¥ Nod wEr # H@E 7§ W W g@en
T & S
A BD CEB_ _CEB_
Ans X 1. CDADEA
X 2. CADADE
+ 3 CEADAD
x4 CDAEAD
Question ID : 115135874
Option 1 ID : 1151353494
Option 2 ID : 1151353493
Option 3 ID : 1151353496
Option 4 ID : 1151353495
Status : Answered
Chosen Option : 3
Q.64 90 km/h Fr TTE T TF W TF IS UF ST & T FF 18 s H 3 tF wewH F 65 TS
F UT FT §) oEwE B oEr e 87
Ans  X'1.1020 m
X2 1050 m
X3.1250 m
« 4 1175 m
Question ID : 115135903
Option 1 ID : 1151353609
Option 2 ID : 1151353610
Option 3 ID : 1151353612
Option 4 ID : 1151353611
Status : Answered
Chosen Option : 4




Q.65 w wea 3R 3@ a1 & wuw - | 3k 1| Re aw #) 59¢ F F9 § FU" 92T F7 3oW A F B
e §7
EEEs
T &7 siter @ &= gy E7
FU:

I. €T T Fa U 99, 8o 3R F=a v 6, F:He 2
Il axfEed, T % qF Fr gl &1 FHer, J B swetdr T ¥ Fuw s Hrogr d

Ans X 1.
9 T 3] & F TOIT U | 3R IACT g, Safe FU || 3Ry I3 AT 21
X 2.
99T FT 3eal o & [oIT Fua || 3 uaeg &, Fafd Fue | 35 qacg 77 &l
o 3.
Fu=T | 3 1| S v Ty FeeR 997 # 3o &7 & o gaea §
X 4.
Fua | 3T || S T A FeeR T T F IoR &7 F v waeg 7@
Question ID : 115135887
Option 1 ID : 1151353545
Option 2 ID : 1151353546
Option 3 ID : 1151353547
Option 4 ID : 1151353548
Status : Answered
Chosen Option : 3
Q.66 vx PfFag wfyg T F &7 W 5 a¥ & fov FefE o FReg oo $ 9fiveaar W a7 aaufE 2
9,800 ¥ 3T TA & W 10 a¥ & v PR A gm0t @ afveaar 9% &7 e 2 12,600 ¥
ofe St FHET F WURT =S fEAr 4T g & TS s & Wi e
Ans 1. 8%
X2 7.8%
X3 10%
x4 8.5%
Question ID : 115135901
Option 1 ID : 1151353602
Option 2 ID : 1151353601
Option 3 ID : 1151353603
Option 4 ID : 1151353604
Status : Answered
Chosen Option : 1
Q.67 6 Sy 2021 # HET Tew H, faAE vF Wle@RRr TUr Jzdr fwe #uew, GENT Gger AT T
TR & 3HIeS wgl fRar T
Ans |
X1 HJEIQQEIT
v 2. feTmETg
X 3. F[ETETEr
X4 pifesr
Question ID : 115135493
Option 1 ID : 1151351971
Option 2 ID : 1151351969
Option 3 ID : 1151351972
Option 4 ID : 1151351970
Status : Answered
Chosen Option : 1




Q68 oradr 2022 T AT AFFN F HIER, YT HET IR F A F= 2

Ans w1118
X2 108
X 3. 148
X4 138

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135515
1151352059
1151352057
1151352060
1151352058
Answered

1

Q.69 zr FEmrat F1 AYeAH TANSH (LCM) 39 Hgea® FAMSaS (HCF) 1 20 T[T § o7 geas
TATE (LCM) 3T Agead ¥AMaas (HCF) o7 TWTha 504 1 Ife SEamsit & 3w 24 ¢, ar
gEst # OeTEe A e

Ans 1216
X2 225
X3 180
x4 210

Question ID :

Option 11D :

Option 21D :

Option 3 ID :

Option 4 ID :

Status :

Chosen Option :

115135933
1151353730
1151353732
1151353729
1151353731
Answered

1

Q.70 4 TEEr 2007 @ IRER AT| 2 HLES 2006 FH AR F HieT A T ar?

Ans . TREAR
X2 %ﬁlﬁlﬁ
X3 orfaeamy
X4 ElaE]alI
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :
Chosen Option :

115135877
1151353506
1151353507
1151353508
1151353505
Answered

1




Q.71 T 7em F 14 o1 F7 3GT F= 20 kg ¥ T FE OF FaT ©F &7 &, & FET o aitma T 2
kg FH g FMGT &1 FaT T 9 TF F I (kg H) AT Ao

Ans X 1. 45
X2 43
3 46
X4 49
Question ID : 115135909
Option 1 ID : 1151353635
Option 2 ID : 1151353633
Option 3 ID : 1151353636
Option 4 ID : 1151353634
Status : Answered
Chosen Option : 3
Q72 Feiw, AE F 45 TN AR ¥ T T F AT FA S E, A I I w8 Rm F quaw
Hehd &1 HNT @ e 3 @ B FA H Fad G oo
Ans o 48
X2 38
V3 44
x4 40
Question ID : 115135912
Option 1 ID : 1151353648
Option 2 ID : 1151353646
Option 3 ID : 1151353647
Option 4 ID : 1151353645
Status : Answered
Chosen Option : 3
Q.73 s @RET gz o &, RICE & ‘5136' Trmm =iam €, ‘FUR' & 327 R =mam &, AR FIN' &7 1785
rar =T &1 3T %E v F FUN' 1 T fFw v R soem?
Ans o 1 872
<2 258
<3 182
X4 718
Question ID : 115135885
Option 1 1D : 1151353537
Option 2 ID : 1151353538
Option 3 ID : 1151353539
Option 4 ID : 1151353540
Status : Answered
Chosen Option : 1




Q.74 ﬁumuﬁma‘w—w@'ﬁ,*=~(Wﬁ@é€a§ahtgﬁ%z§w,'='mﬁaﬁw§am T TR

T TMURIT SiHaT S e & o] & | T G-
qeed! # U I T &1 90 P, S dRR Se-THg | W g (7) & RIF W 1 adl B

21, 9., 40=149
18,7;:25 =101

T Hearai o1 e e o 2| fr e

15,11,30="
Ans X 1. 125
« 2. 135
X3 120
X4 110
Question ID : 115135899
Option 1 ID : 1151353595
Option 2 ID : 1151353593
Option 3 ID : 1151353594
Option 4 ID : 1151353596
Status : Answered
Chosen Option : 2
Q75 Fmmds $ Hiea FAAAS GART FAC FH A TS Ie@T B ¥ & & S S P
Ans )
v . THISET ARy (Aoleang Monyu)
X 2. FTRAT 9T (Garia Pooja)
X 3. A\ (Mopin)
X 4 \raer (Myoko)
Question ID : 115135528
Option 1 ID : 1151352112
Option 2 ID : 1151352110
Option 3 ID : 1151352111
Option 4 ID : 1151352109
Status : Answered
Chosen Option : 1
Q.76 Rw T FEt sk Tt #r cwEEE 92 5w ST &F Ry o et F @ #w @ wm F oamm
= weT 2
FU:
K=P<CP>QQ>L
s
LQ<C
I K>L
Ans
X 1. I =y || =7 &
X2 e o=y | @7 B
v frwg | 3t 1 @t T &
X4 o ar ey | 3k 7 & oy 1| I B
Question ID : 115135873
Option 1 ID : 1151353490
Option 2 ID : 1151353489
Option 3 ID : 1151353492
Option 4 ID : 1151353491
Status : Answered
Chosen Option : 3




V7 e # @ Fia-mr Shfag ShETen gaT T 3EET 22
Ans X 1. ea 31 (Silver oak)

x2 'lelﬁTIT (Funaria)

v 5 f3=r faerEn(Ginkgo biloba)

X 4 grareefid@ (Dryopteris)

Question ID : 115135511
Option 1 ID : 1151352044
Option 2 ID : 1151352041
Option 3 ID : 1151352042
Option 4 ID : 1151352043
Status : Not Answered
Chosen Option : --

O TeRfE 3ERTET AT ST T 39T AT 37

Ans X 1.
TET Y@ ¥ A e A R I SIEaE-ataat (slum dwellers) ST BRI

x 2 Tl AR & e gy g

X 3.
T W@ T A SEE I A T SSIE-aaaT (slum dwellers) & Redr @ETIar

o 4.
T Y @ A Sfew o F A FasuganEar (slum dwellers) #t 3T st e gRuw

Question ID : 115135508
Option 1 ID : 1151352031
Option 2 ID : 1151352029
Option 3 ID : 1151352032
Option 4 ID : 1151352030
Status : Answered
Chosen Option : 4

Q.79 fy v gerEme ¥ fawelr o &1 Fewrere i el @ 7 gl 1,200 kms §1 9E 25% g e,
30% &t 7@ @, 15% gt TrmEr ¥ AR 99 gfi guE e & a9 IR W AU war g A g

T @ & T N g A 37

Ans X 1. 425 km

<2300 km

X 3. B80 km

4 360 km

Question ID : 115135906
Option 1 ID : 1151353622
Option 2 ID : 1151353623
Option 3 ID : 1151353624
Option 4 ID : 1151353621
Status : Answered
Chosen Option : 4




O S & @ F9 @ X (rocks) T 3EEIOT AT &2

Ans x 1. W

X2 fare
¥ 5 UFhleT

X4 gHTeE
Question ID : 115135512
Option 1 ID : 1151352047
Option 2 ID : 1151352048
Option 3 ID : 1151352045
Option 4 ID : 1151352046
Status : Answered
Chosen Option : 3
Q.81 g3 o - aifvew, A ik s A3 a e fI A B cam=m daem a &1 P, Q
AR R Fea Fm @ §1 J, K 3R L #or Fog @ £ Fafofaa odt & ¥R ) 4 $sfies Renfsat
& TF &F W UF AT F O & I g
(i) 9ed TFT F FH § FH TF T g1 e
(i) P, Q I R & @rer &t SAwem|
(iiiy A 3 C gHA TF | AW
(iv) K 3T L g3em o gy S
Benfaat @1 7/ @ Fia T T gEEe & v v @l wE@ew 7
Ans
v1 A C, P3RJ
X2 B, P, R 3ktJ
X3 A Q R3RTJ
X4 B, Q J 3K
Question ID : 115135878
Option 1 ID : 1151353510
Option 2 ID : 1151353511
Option 3 ID : 1151353512
Option 4 ID : 1151353509
Status : Answered
Chosen Option : 1
Q.82 ZIRT 1587 oraredy S5 F e & wer ey & # w=few G o
Ans X SragsTT AR
v 2. FEIIRY HAd T
X3 ST AT
X 4 T[T Uehel TOETH
Question ID : 115135525
Option 1 ID : 1151352100
Option 2 1D : 1151352098
Option 3 ID : 1151352099
Option 4 ID : 1151352097
Status : Not Answered

Chosen Option :




Q.83 UN (a5 wigeres Sredered 2019) % FFER, 2019 F foee & F 5w &1 & JoEE ey waifts
AT?

Ans X1 wied

< 2. TETRTT
v 5 AT
X4 HeelE

Question ID : 115135498
Option 1 ID : 1151351992
Option 2 ID : 1151351989
Option 3 ID : 1151351990
Option 4 ID : 1151351991
Status : Not Answered
Chosen Option : --

Q8 g A EN TR TEA IV 1853 e @ 5% o g o
AnS o R

X2_FI'IT=‘T3T

5 =IOt

X 4 qoOr

-

Question ID : 115135491
Option 11D : 1151351963
Option 2 ID : 1151351962
Option 3 ID : 1151351964
Option 4 ID : 1151351961
Status : Answered
Chosen Option : 3

Q.85 wr #g= # v FeaeR I & war T g1 ofy W i Fr wEw R ik aiafe 9t
HeT 33 m ¥, @ W i & e (m ) ww B (v =2 )

Ans

3
X1 4>
4

1
X2 B_
55

3
% 3. 05
4

il
4 5=
4

Question ID : 115135930
Option 1 1D : 1151353720
Option 2 ID : 1151353717
Option 3 ID : 1151353719
Option 4 ID : 1151353718
Status : Answered
Chosen Option : 4




Q8 ooRfRa & ¥ FiF & a¥s TRRY wuREE &8y F 3aeg adr E?
Ans x 1. ﬁ

X 2. fafasToT
« 3. T
X 4. farar
Question ID : 115135490
Option 1 ID : 1151351960
Option 2 ID : 1151351957
Option 3 ID : 1151351959
Option 4 ID : 1151351958
Status : Answered
Chosen Option : 4
Q87 efd@ar (Huli Vesha) F T &9 F vs AT Wi oo 8
Ans K sifgam
X2 hgel
X 3. oA
v 4 e
Question ID : 115135526
Option 1 ID : 1151352103
Option 2 ID : 1151352102
Option 3 ID : 1151352104
Option 4 ID : 1151352101
Status : Answered
Chosen Option : 1
Q.88 2019 #, [meafael & AT T dhe TUE ¥ FAEeR Soel WA 3 w9 # U gest
WA FT I SO, S AGE 9% H UF SUHT @ g ST §
Ans x
I 3EIREI
X 2. FATT
X3 el
« 4 wUTTATY
Question ID : 115135527
Option 1 ID : 1151352105
Option 2 ID : 1151352108
Option 3 ID : 1151352106
Option 4 ID : 1151352107
Status : Answered
Chosen Option : 3




Q-89 gy wirer 1 goET &FHer 61600 sq. cm ¥l e F WA (cu m H) S HfIT

[n=§$rm£ﬁv]

Ans 43,12

x 1

X2 4312
X3 43.12

4,312
b4 —=

Question ID : 115135928
Option 1 ID : 1151353711
Option 2 ID : 1151353710
Option 3 ID : 1151353709
Option 4 ID : 1151353712
Status : Answered
Chosen Option : 4

Q.90 3:2 % 3 & g 3R T I TH FF H 2 AT A A 2 1 3 F IS F gy HR T A= v
e g 1 3 Fer A A Bremn s §) v B & g el ol @ aeee we A

Ans X1.9:4
xX21:1
¥3 12 : 13
X45:86

Question ID : 115135924
Option 1 ID : 1151353694
Option 2 ID : 1151353695
Option 3 ID : 1151353693
Option 4 ID : 1151353696
Status : Answered
Chosen Option : 3

Q9 =&t F mfET vREE SRR e ATl 2021 F aRa ¥ P @7 9T S

Ans =

X 1. O
X2 Hd
« 3. HIS
X4 B8

Question ID : 115135486
Option 1 ID : 1151351941
Option 2 ID : 1151351943
Option 3 ID : 1151351944
Option 4 ID : 1151351942
Status : Not Answered
Chosen Option : --




Q.92 Fr s wuet HRY Frews @ eaeEe 98 9w AT & Ry v Tredt § ¥ #i9 § st & s

o0 T
FU:
A>Z=P>M
P<R

o
LA>R

.M <R

Al X1 Faer | TeT B

v 2 Faer || TeT &

X garldixaar g
X4 | 3T Il =1 & w7 g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

115135883
1151353529
1151353530
1151353532
1151353531
Answered

2

Q93 Ffr\Itan26-3 = 0% & tandsech —sin® T AT FT HIIT, FET 0 < 6 < 90° ¥

Ans

x 1.

x 2

3.

)~ = Wl v Ln

Question ID

Option 2 ID

1 115135935
Option 11D :

1151353737

: 1151353740
Option 31D :
Option 4 ID :

Status :

Chosen Option :

1151353738
1151353739
Answered

3




Q.94 3 9,800 Fr uFIRr H 10% af¥e 0T # & X TF I¥ ¥ forv g far @, 58 W == #r

AT T TRl IR W Fr S 1 39 F 6T F T =A Fhaer g

Ans . »1.%1,004.50
X2 %1,003.50
X3 31,005.60

<4 3980
Question ID : 115135929
Option 1 ID : 1151353714
Option 2 ID : 1151353716
Option 3 ID : 1151353713
Option 4 ID : 1151353715
Status : Answered
Chosen Option : 1
Q.95 x, v 3t z $r 597w e g 44 9 F1 8 I uger X AR Y F wa g 38 9 oM Z Fr A
I foraetr €2
Ane X1 39 T¥
V2 40 9§
X3 41 g
X4 38 a¥
Question ID : 115135920
Option 1 1D : 1151353678
Option 2 ID : 1151353679
Option 3 ID : 1151353680
Option 4 ID : 1151353677
Status : Answered
Chosen Option : 2
Q.96 g F I e § weT OF R, aiv e fer & 15 km TEHRT FW FIT I og, HR AR
HOA TS T HeT, WX WeH W U 8 km =T T@ H T A A8 AT HE, 15 km T FaA
quaﬂ $HF S 9 T AU T3 AT AqF, AW 4 km ammaﬁﬁmqgm| 3TF
T & WIYET FHAT AW fhaer g7 AN BRE fam & 87
Ans
X 1. gf@or & 3T 7 km
X2 gfad $r AT 4 km
X3 FegT & 3T 12 km
v+ 99 @ HR 4 km
Question ID : 115135891
Option 1 1D : 1151353563
Option 2 ID : 1151353562
Option 3 ID : 1151353561
Option 4 ID : 1151353564
Status : Answered
Chosen Option : 4




Q.97 v gFeER, T 30/kg FT aT T T 7T 30 kg TES AT T 28/kg F W W T 7T 40 kg TFH F
fafa #xar & 3t 72 57 9w o ¥ e # 2 28/kg Fr 2T W A=A ¥ Wi e w gty

Ans

(Frreas Joie =% Tiedwe) 7T Hifew)

X1 6% gifer

K2 7% oM
3 3% g
X4 B% oM
Question ID : 115135902
Option 1 ID : 1151353605
Option 2 ID : 1151353606
Option 3 ID : 1151353607
Option 4 ID : 1151353608
Status : Answered
Chosen Option : 3
Q.98 =rEw smuret & e TE IR w1 R @ F B gw aew # B g F Aife wfet g
FEIET H gl A &
Ans =
<. mifafae e
X 2. Freqfeer AT
X3 HRf&a AT
o 4 HILE ATl
Question ID : 115135507
Option 1 ID : 1151352027
Option 2 ID : 1151352025
Option 3 ID : 1151352026
Option 4 ID : 1151352028
Status : Answered
Chosen Option : 4
Q9 7 S T S gF T AT AT, S 72, 108 3R 300 ¥ =T 27
Ans 127000
<2 21600
X 3. 3375
X 45400
Question ID : 115135917
Option 1 1D : 1151353666
Option 2 ID : 1151353667
Option 3 ID : 1151353668
Option 4 ID : 1151353665
Status : Answered

Chosen Option :

1




Q100 gy smorg =7 &9 453.6 m2 ¥ IR sEHr € 27 m ¥, & g @ 9NAW fhaar geme

Ans  X'1. 854 m

<2 86.6m
« 3. 87.6m
<4 898m
Question ID : 115135914
Option 1 ID : 1151353654
Option 2 ID : 1151353653
Option 3 ID : 1151353655
Option 4 ID : 1151353656
Status : Answered
Chosen Option : 3
Q101 = #r 3= WE A UG § T Ao H 0T YRR F RS, g FReER F 9 ¥ Fed @ o
TRE | TE ¥ T e # ol uER % A, g aER @ 9w 1 s F olen Biee e @
e # o &y e 2
Ans . TREAR
X2 HAX
X3 grFEar
X4 FITeE
Question ID : 115135893
Option 1 ID : 1151353569
Option 2 ID : 1151353570
Option 3 ID : 1151353571
Option 4 ID : 1151353572
Status : Answered
Chosen Option : 1
Q.102 75rFsr @5y F 3RER, wEeT 3 ERE § B Aoer F oE 9 § B e uem weR
2021 ¥ & gEAtEa SR e
Ans wr + &
v 1. B el Whig Aers
X2 2. I dmer
X3 g JIT TIRTH
X 4. ST. AEIG fasra e
Question ID : 115135484
Option 1 ID : 1151351936
Option 21D : 1151351933
Option 3 ID : 1151351934
Option 4 ID : 1151351935
Status : Answered
Chosen Option : 1




Q.103

F T FAC F T FFS FBCIE F T A TSNS AT AT g

Ans
v Hrga seue
X2 fFed 3915
X 3. geTd 3c91E
X 4. WFA IS
Question ID : 115135506
Option 1 ID : 1151352023
Option 2 ID : 1151352022
Option 3 ID : 1151352024
Option 4 ID : 1151352021
Status : Not Answered
Chosen Option : --
Q104 gorardy Teael #1 97 FEET F FET F TP Aes TeAaar Zar R F=T S
Ans
X 1. sl
X 2. srfeerd
X3 faemEeed
v |
Question ID : 115135518
Option 11D : 1151352071
Option 2 ID : 1151352072
Option 3 ID : 1151352070
Option 4 ID : 1151352069
Status : Answered
Chosen Option : 3
Q.105 e sraedr 3 35F e & Fua - | AT 1| e ow &) 907 & aig @ wua & 0 e F 9 5
EiCCaris
FU T, THEl # FEE AEd YT e & @U-my Hieasd ($ifE) e § meee e
g
FeT:
| FEdr 7 aoE F FE AT 3l o e w=at Fr o sfegEa we WSS & B 5o
& &l
II. FTT & Awes & FROT, TRt A TIET H Ao H ETEAT BT Tipd O H FHE ST
I &g AT AE g
Ans

v wuS | AT 1 S genfaa wror )

X2 Fae HYT || TF FetaT FROT ¢

X 3 Fhael HUF | T FAET HHEOT F

X4 o @ wuet | 3T 7 & |l v gefag SR B

Question ID : 115135888
Option 1 ID : 1151353551
Option 2 ID : 1151353550
Option 3 ID : 1151353549
Option 4 ID : 1151353552
Status : Answered
Chosen Option : 3




A X1 3% e

Q108 gy dfdera & oo & ¥ 5@ s # 22 st F seow 22

Chosen Option :

X 2. 49T T
X 3. BT HTG
v 4 8aT HAFT
-
Question ID : 115135500
Option 1 1D : 1151351997
Option 2 ID : 1151351998
Option 3 ID : 1151351999
Option 4 ID : 1151352000
Status : Answered
Chosen Option : 4
Q.107 s fafesa e o &, 'MISTAKE' #1 LHRUBLF' forar =am & AT 'PROBLEM' & 'OQNCMFN' farar
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Ans

Q120 TR o v S @ 9 aut F 2 e #E W B T e a geldr ¥

Expenditures of  company (in Lskhs)

[Offers
jand
Promotio|
Year |Sslary vertising _|ns
2017] 361] EE E 14 52|
E 2 I = I
2019 EE 110] 15| 108 ES
2020] 713 108 65| 113 a3
2021] 653 111 EE| 10| 75|

(HEsT - Expenditures of a company (in Lakhs) - 9T & =0T (ar@ #), Expenditure Heads - =o3 &
AL, Year - 99, Salary - 35, Transport - TEge, Taxes - &, Advertising - Ta=T9e, Offers and

Promotions - HTHT TF F&T=)

2017 # &I F T =0T 2021 F FHF FF TT & T e TeRid F S 42
X1 61%
X2 %
v 3. 68%
X 4 55%
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